Name:

Density Worksheet

Remember:

Sample Problem #1:

What is the density of an object whose mass is 15 g and whose volume is 3 m]?
Step 1: Decide what type of information the problem gives us.

D=7 (In this problem we want to know this.)

M=15¢ (Any time you see milligrams(mg), grams(g) or kilograms(kg) it means mass.)
V=3 ml (Any time you see centimeters(cm), milliliters(mL) or liters(L) it, means
volume.)

Step 2: Look at the triangle and cover the letter you are missing.

In this problem you are missing density so you cover density. This leaves you
with mass on top of volume. So your formula for density will look like this:
D=M
v
Step 3: Plug in the number you do have and do the math.

D=15¢ (This means that you will divide: 15 g+ 3 mL)

3mL

D=5 g/mL

You must put the units at the end, you get the units by looking at the formula. Just
look at what I circled.



Questions:

1. What is the density of a ball that has a mass of 10 g and a volume of 3 cm*?

2. A rock has a mass of 12 g and a volume of 4 mL. What is it’s density?

3. What is the density of a diamond whose mass is 6 g and has a volume of 2 cm’?

Sample question #2:

What is the mass of a rock whose volume is 4 mL and has a density of 3 g¢/mL?
Step 1: Decide what type of information you have.

D=3 g/mL  (Remember that density can have several different units but it will always be a
combination of a mass unit and a volume unit. Any number with a */” in it.)

M=?
V=4mL

Step 2: Look at the triangle and cover the letter you are missing.

We know we are missing the M, so we will cover it and we are left with D beside V.
So the equation to find mass is:

M=DxV
Step 3: Plug in the numbers that you know:
~M=3 g/mL x 4 mL
M=12g

I know that the mass is measured in grams because the units of density had
“g”/mL. Mass is almost always measured in grams for this class.



Questions:

4. What is mass of 10 cm” of copper if it has a density of 8.3 g/cm®?
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5. Gold has a density of 19.3 g/mL. If you have 5 mL of gold what is the mass of vour
gold?

6. You have 20 L of gas in a balloon. You know the gas has a density of 1.29 g/L, what
1s the mass of the gas in the balloon?
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Sample Question #3:

What is the volume of a rock whose density is 1.74 g/cm” and has a mass of 8.7 g?
Step 1: Decide what type of information the problem gives you.

D= 1.74 g/cm’

M=87¢g

V=7

Step 2: Look at the triangle and cover the letter you are missing.

You know you are missing V so when you cover it you are left with M on top of D.
So the formula for V is:

V=M
D
Step 3: Plug in the numbers you have:
V=__ B.le i (This means 8.7 ¢ + 1.74 g/em’)
3 1.74 g/ecm’®
V=35cm’

I know that the units of volume are cm® because it appears in the density units,
In this class volume can be measure in em? ,mL or L so be careful.



Questions:

7 What is the volume of a ball that has a mass of 16 g and a density of 0.5 g/mL?

8. You have a glass of sprit. The sprite has a mass of 80 g and has a density of 1.2 g/mL,
what is the volume of sprite you have?

9 You fill a balloon with 10 g of a gas whose density is 0.089 g/L. What is the volume
of the gas?
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Mass. \}olumé'anﬂ Density

1. What is the mass of a liquid if a student recorded the following information in the lab:

Mass of empty graduated cylinder: 2.7
Mass of graduated cylinder and liquid: 456 g 1
Volume of the liquid: 26.7mL ; :

2. The following is a graduated cylinder that has 34 mL of water in it:
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You then drop a solid into the graduated cylinder. The solid has a volume of 9
mL. Draw the level of the water before and after the solid is dropped in.

3. How would you find the mass of a solid?
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6. How would you.ﬁhc\l the volume of a li\qurid‘?' -
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7. What is mass?

]

O\ | ¥
Y a g

8. What is mass measured in?

v
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9. What is volume?

10. What is volume measured 1n?

11. What is density?

i i

12. What is density measured in?

v, 1 \ ) .
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13. You have three different substances, using density determine the order that these
three substances will appear if they were mixed together in the following container:

Substance A 1 g/mL
Substance B 0.95 g/mL
Substance C 2 g/mL

14. Why does a hot air balloon rise?
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